Porovnavani celych cCisel

Dopln spravné znaménka <, > nebo =:

b)

4[] 8 3 [] -7 8 [] -4
6 [] 9 7] 6 5[] -2
2[]0 1] 9 9]0
1 [] 7 6[] 8 0[] 8
6 [] O 5[] 7 6[] 6
Dopln spravné znaménka <, > nebo =:
a) b) c)
8 [] -6 0[] -2 2[] -5
5[] 8 7 ] -1 3] 9
7] 2 9[] 9 1] -9
8 [] -8 9[] 2 0[] -4
7 ] -9 8 [] 7 3] 6
Dopln spravné znaménka <, > nebo =:
a) b) c)
35[ ] 98 90 [ ] 62 3 []-26
16 [ ]-35 51 [ ]-59 20 [ ]-60
86 [ ] -26 5[] 85 51 ] -1
72 [] 95 44 ] 90 2 []-52
5 []-86 95 [ ] -80 9 []-69

Dopln spravné znaménka <, > nebo =:




